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{ Veloeity Wavelength = Frequency f Energy Waves transfer: |
: U":!:/. i ‘Jr s . jfut-'{‘l T V:./J Uglfuhg ul’p(.utf
| Erequency Iotelongtil 1 -y " | The loudness of a sound is most closely 2
requency avelength % crioc Amplitude | palated to its: “ 4
I i .. ) : '..” » e !
L 10dB 20 dB ; 30'dB 40 dB , 'ﬁ*“‘d”‘?’w et/ /0UR| 3
Lo Intensity level duc to rustling of leaves is: 2
! 0oL i ; 4 y I
stk | fedgs oS QS e |
S R S e O :{_Js‘ra:‘.:.&':gli.'gfz/.f_ 1 §
 Real. v “l“‘“ Virtual, Virtdal,  lmage formed by a camera is:
. inverted and | : upright and upnghl and  inverted.and i
. diminished . magnified diminished | magnilie
| :
| VIQ Qv Qv Ve d‘aJC)JfJ/'b(J“J'X
| Capagitance is ck,hned as:
; ‘ a s s "'\'/: . ﬂ'
L V=i V=IR | V=R V=R , AT
‘ ; Omh’s Law'is equal to: { 1
j : o._-t', U' /'L T ( C’ - ‘
700 watl 800 watt 1500 wau 1000 watt / i
; The power consumed by clectric lu,.m.x is:
i . ’ e 10 w,""dg!-?s—//w"'. ,r
N;=10N l Vi=V,/10| Ny=Ny/10 | L=101 |The turn ratio of a transformer is 10, it 8
A | w4 (NeAns:
. ) (¥ 5% R i e
\/{f:‘.{' i Lf"' Jt J:fll bﬁrc..c' s.-fpblt\_/’.V"’V'.vr\)&“"\./r"h.du’
NAND gates | NOR pates | OR pates ; NOT anles JAND gate can be formed by usmg twa ‘,
’ £ R S G ? RN £ vu’)vu‘! 10
Gathering | C ak.ulaung Mampu\'mnm Arranging Which is not processing? L
1
? 'U, s‘:u‘?wi. lbv-/u/’( )34 9—))r 1).-‘}2
L 2d 2 . ER g7
Lo 794 793493 791491 593489 | When Uranium (92 Protons)®S (L end wd! 11
| 94 protons | 93 protons | 91 protons 89 protons ' cjects a beta particle. how many protons ‘
L will be in the remaining nucleus? ,
: -
t . ! ~ !
w13 | e 123 2106 o 8.07 eSS 12
. 138days | 123 ycars | 10.6 hours §.07 days |Half-life of lead is: i
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Write short answers to any FIVE parts,

Aeyz B Langia S 2

- v o, P -

Define time period mud frequency. -g’f.-é’/JJ"r’i/M&ﬁﬂ‘ ()
- . G . e Crs # per
Define Hook's Law and write its formula, Ly AMZE R T G

-gE e e AiedioF i veg A Gid
Relate the speed of fongitudinal and transvers waves through sohd, Tiguid and gas
.é",‘f'éu,i&'wméﬁ ..:,'k"»d:;b’:_»ﬁgd’vmv?%! (iv)
Draw clectric field lines tor two opposite and equal point charges
8 L (3 . . i ” 1 g et . - - a0 ,"_
Define electrie potential and write its unit. N LOF VPSRN TNy TRy
g o
7 b4 . N o, 2 5 s g w4 e . - .
Delime capacitanee of the capacitor and write its unil. v e g ..g/’du"’u“':.j.‘r.‘-? (vi}
e WS gE b P T B i)
Sy FASE v oot e ving)

oy Loz dS 3

Define electric curvent and weite its tormula.
Deline Ohmic and non-Olmiie conductors.

Write short answers to any FIVE parts.

" . ., . . o e J’““.”"’,v oy s A .
What is the difference between Totdness and intensity of sound? SIS e e el ()
S v ¥ e, .

How can you reduce the fevel of noise pollution? \\,g.?...fr“.{.,m}wu},; i)

et - o Do,
S‘.f,,t‘!;}l&»‘ ~;$JJH’;..Q‘: ™ ,CJ';‘.‘.,-;;,(" : ._&.";_,fﬂ! (iii)
What is the effect on piteh of sound by changzing the frequency of vibrating body?
Differentiate between primary memory and seconilary memory, \‘“:.J)y'uy.»;\sm.‘ R RN Sy Liv)

What do you understand by the term word processing? Yo !"f&".:..{;&i"é'-f‘ru;in (v)
What is difterence between RAN and ROM? Y SRS i, (i)
Define isotopes of an element. Lop FLAS AT skt (viD)
What is meant by back ground radiations? Post e i1, 0 SLwiin

.ﬁ@&lﬁ#ﬁd!l&&bé:f -4
RN TN YR T

With the help of diagram define center of curvature of spherical mirvor,

Write short answers to any FIVE parts,

How can we see the printed words on a page? S it . 04 G
How a sunbow js formed? Ce P tel et (id)
ST ¥ (U

B e LGl L S Sk S S (i)
How can we find the direction of magnetic field by using right hand rule?

What is meant by MRI1? S e MRL (V)
What are benetits of smart 1D card? SAONSEEID L (V)

Pl L S e et e A (vif)
What is meant by Boolean Algebra? How we represent Boolean variables?
Define AND operation and write its formula, .é‘.’j"i’!'.!\;@;"ﬁ!':"{..é'f'v(gg.;; AND(viiD)
Y 4 4
- 09 ..Cdl:'ﬁ_.“;’,{f.j’.:uw?«....::Ulrn.r...&:( 33 et
Part - 11, Attempt any TWO questions. Each question carvies 09 marks.
: PR T
-ggwl.})JJu'LU.L.:?)UI/L(,U"» ud’/l?' () .5
Describe the factors on which resistance of a wire depends upon.
LT 2C 47 e bty 0.03C 4Tt g st S S 6V R ()
?u’.{.‘-u.‘f/b’l)@".”gi[—

A capacitor holds 0.03 coulombs of charge when fully charged by a 6 volt battery.
How much voltage would be required for it to hold 2 coulombs of charge?
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1

D [ C B A ()ucstmm [ ey A
- . i 1
!(d" N g JL‘“fiz_h..'..fl.f_f,i{:Jiy_- )’nfdzr’v.ﬂuf
\.fll‘-.g_',_" ' ~ve V."“‘ "6“’{/ d;ﬂ v"'blfl |
e e Helieal spring |0 s
Tuning fork (Slinky) Ripple tank String 1 Which device ¢an be used 10 pmducc both'
P mnnsvcm ond longitudinal waves?
1 ; T 1 ’ bJ.A 4flcub)ﬂfu~/“f) r ...{_,;’Jk/r ”
N E 3 YT if mass of the body in mass spring system ; i
T - ] (s doubled, its time pcnod will be: ..
; i GooF iy
i ks RNy spEie . eSSy
| 5, o8 . . Which is an example of a lonpluclm.nl 2
Water wave | Radio wave Light wave — Sound wave | ves?
| : : (
! u.. [
0d3 | s0d3 1 204B) | toaw | 5= et A
| { The intensity level of mosquito buzzing is:
RN 3 ; Lrdn i e b1 s ar /’*“Jb”(u"“""rf(hdf" 5
[ FomwEE g SR | ek Which quantity is not changed during
Its wavelength, Its frequeney | 1ts speed p{ Its dmgtmn relraction of light?
i t } I, i
; b ! h ,&y i '}—g x‘vj‘}:y f"'.vr{'(ﬁv a)’lﬁflar
Jo=2em o fo=lem | fo<lom -S> 1 ¢ _An compotind microscope, objective lens | 0
i ; has focal length: R i
A T "
L y Lo ry ! !
Vel e Nl P L e i i r.r
| N L'aiv v ‘"" oy ‘ /-JL“-"‘"-;JV fLsiered? e gm‘.i’.......ﬂt., [ErY ;
b il Asgen Ve d | tionary sty " ‘
iSt.'umn?nr rand  Movingand | g i The Colemb’s Law is valid for the |
L and point | Moving an charges which are: |
arge sice non-point l charges point charges 3
charges charoes ! .
" r J 2 o Felk enoafa®
ety RN g fpn WY} 1P U -‘:t\_!..,'f/ﬂ
LY LI i & Ny sric current in conductors is dueto . S
e Positive | " An electric current in conductors is due 1o
! Free clw[mns chz\rgw éNL‘Ql(I\'L mllw Positive ions the flow oft .
{ ; 7 i - _.~" o ","“ 3 - "’ e i
i ...JULC"C‘ | ‘:_u/irr LE Jrl-' ;..{';;%.v':}.;'u'r\'l & ru’_..s‘ \":""'E ‘.’.‘.wﬁ'«-@?\}.—h’ Jﬁgég‘ 0
l Ma;,n:.uc ! bmuomr) Stationary Gl The presence of a magnetic field can be ’
| compass inegative charepositive uh.lrgci S detected by a i
H ¥
! 'r'T ’ ‘ . ;;,/’.C', .v{].‘.'..lNuno,b-.._v Jb"jf': 7 Aa.._i ‘
| = G big bl The particles emitted from a hot cathode 10!
{ Negative ions [‘ Poumcmm Protons Eleetrons | ¢ eface arc: )
— ] ! o b @ oy n
| L , A L, | L% e ARG S
1Y . ey | 2 ¥ 5 - .
’ P | . In computer terminology. information H
| Large data i Any data !Pmccsscd datay Raw data o oone
{ ! J ..Iw.f.\;«»"g,c-.f;:-,s,)é’;w.ﬂ&*'u(a._»
: bc_\nr‘-.fl ! b’i.lg::{u vb'a./u’ ‘)/J:f ¥t ot i £ ‘,'&_(J
| Decreases by | Decreases by - Staysthe | Increases b
i B ane . tho v 1,);5“ one Y What happens to the atomic numbu of an'

clement which emits one alpha particle? !
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P, g p-2 2 Part=1  : Jileee)
Write short answers to any FIVE parts. " VU:’/"' L.l]létc_.df
u.’d f&wb'/gu’!uﬂ..fﬂ/u/"gfuad" (i)

What do the dark and bright [ringes on the screen of ripple tank represent?

Define the elastic restoring force. ~Ew PSS E R G
What is meant by damped oscillation? 3’:;.)'/},/@&*’0’:'5;55 (i)
Write twao uses of capacitor. - I 2 Giv)
What is meant by the capacitance of a capacitor? et sy, r—u'""‘u"{ S
How electric ficld is helpful for some animals? ?-:;..G"" :r;b"»éfik'—f/‘goé.éluniiga{ (vi)
How many watt hours are there in 1000 Joules? S st 23 221000 (vii)
State the Joule’s Law and write its formula. -é"fﬂmﬁb’umlcfugu:’\i gJs (i)
Write short answers to.any FIVE parts. - ..-U.P/:" Lrillé'gc_jf

-l PG S 100dB.S 2 $S0dB B o (i)
Will two separate 50dB sound fogether mnsmu(c 1 100dB wund" Explain.

What is difference between noise dnd music? S IS 0 (D)
Define intensity of sound. -,-_;‘jf.,y/’&‘c'iv..i?&"‘f": (iii)

What is difference between primary and secopdary memory? SOV RUNLELE NS A1y Giv)

What is meant by data management? ‘-'ﬁ;.n/y'.:...'ﬂhf'w (v)

Write names of components of computer based informdtion system. -&'rtﬁu:*’ﬁr""u%ﬁu?u»x& (vi)

Write two methods of safety from hazards of radiations. B AL L B e A8k (vid)
Define nuclear fission reaction. S J'/;J‘\fgld' o k"lv"(\'iii)
Write short answers to any FIVE purts. -.......U!f‘ Ln?lét‘:.éf -4
Write two laws of reflection of light. e -)},\)g’ o (D)

~E S E iy 6 Gom s Lo Wem SIS, 0 gt i

An object is placed 6em in front of a concave mirror that has focul lcngth 10cm. Do.n.nnuu. the location
of the image.

Show principal axis by diagram and detine it. -u.u'/\f;jl.«ﬂ S ,J.J; ¢ Ui
Draw symbolic diagram of NAND gate and write its truth table. < *‘J‘ a’n’n'«...y\)' b Giv)
Write the role of electron gun in oscilloscope. o Avhv o) ,—C’!w... :’"’i (v)
Write any two uses of logic gates. i e i (...J-ff w2 (Vi)
What is electromagunetic induction? ¢ .:.J:ri.i}f‘”ki..ﬁ"i-f‘ D (Vi)
Write two factors affecting the induced e £, B hend il s o f g LAIviiD

..u,!ﬁ‘; 09 L s f'-&.’-:«’fut'!’bvm}"h—-d) «fu.....,--’
Part - II, Attempt any TWO questions. Each question carries 09 marks.

..c,,g,b Lfd..."l L”Jf"v\,ﬁr///:l._z(ng R 'J :":,.a Uiy " wil) &
What is gold leaf electroscope? Explain its workmé and principle with dmgnm
LS, L 220V 0120V ot e oS g 0§ 950 2 el 150W 4l nZ L0 (L)

-~

-c’f:..'?wu;r"dv "c_\ftbc..._......

An incandescent light bulb with an opexanng resistance of 950 is labelled 150W. Is this
bulb designed for use in a 120V circuit or a 220V circuit?

(5:--(5/(.,2)
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Define the loudness of sound. Also deseribe the factors upon which it depends.
: o 1 5
S ey e LTl S 14k gy ) ()
[t
Ashes [rom a camptire decp in a cave show carbon-14 activity of only onc-cighth the
activity of fresh wood. How long ago was that campfire made?
o N 5 5 % ,
“;.;wu,od S—L—/(‘L/IW’//‘,J)"”(’:—U/(;"&’:‘ () 7
Explain the working of a transformer in conneetion with mutual induction.
" 4 wl sy Mgt - . B . >, pray
‘.d_’:y"f"‘f\},‘{},/ .,.;E-__(jif; LA Al 1&3‘55‘\!{’ ’d\;‘:ld@lf_r" P P A 20cm ‘:..//':;“..{' (w)
An object and its image in a concave mirror ave of the same height, yet inverted, when
the object is 20em from the mirror, What is focal length of the mirror?
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